I R16 R22 22
1k2 1k2 A
Factory: c8 — -
_ c19
C3=22p R4 op1 KT3157 B
THD @150W | 20kHz| 80hm == 0.000080% ca=22p 3k6 R10 R17 Q9 1000 14 52
Aol==92dB €5,C6=1n5 15k 313 KT920A
Loop Gain: R1001 279 X1
@10kHz, 78dB c1 9
@20kHz, 72dB N b1 15k b8
2204 | pgise Factory: VT2
=47° D2 D3 c3a£7f131p D5 cs 1N4148 D11, D12 == 1N4148 864
11p R6 o R14 R20 D11 R1 f
. i 1N4148 1N4148 1N4148| |1n5 <73k6 KT3102E 5 > t9-{ 10 }
Vinl Vin 470 270 BAT46W)
@ R1 100 1 workl Ul
L L 544UD2A i“ RN c7
SINE(O 0 1.9e4) SINE(O 35 2ed) R3 j AN R26 R2
( ) AC {inv(abs(prb))} J220 | wsie8a 4n7 | KI3107A KT3107 302
100 Q e 470
R3
D6 c6 R7 Factory: 4l 18 |
3K6 R11, R12 == 100
1N4148 in5 R11
D4 k2 62
10 R9
D815E 100 Ra2 D10 R24
Viifg 270 ks133a < >
v ()18
m
C {u(-prb)} Iddling current:
. Ii R8==0 R8 R25
— AC {u(prb)} @27°C, 27mA 100 "
@45°C, 32mA R12
@65°C, 38mA 100
.options plotwinsize=0 numdgt=7 419 1,8
-1/(1-1/(2*(i(Vi)@1*v(x)@3-v(x)@1*i(Vi)@3)+V(X)@1+i(Vi)@3)) \—IRB
04 Q6 &% .
four 2e4 20 V(Out) ! KT3102E KT3102E 379 22
470 R2
.tran 0 1e-4 1e-5 1e-9
.param prb=0
.acdec 99 1lel 1e9
.step param prb list-10 1 R15 R21 D12
KT3107A £ 2119 10
temp 55 Q2 470 270 BAT46W) RL \J
.step temp list 25 75 R13 R18 KT865
1N41%% 15k 3k3 VT2
/9
Input impedance: X2
Re(-V(in)/I(Vin)) 722 l
(1/Im(-V(in)/I(Vin)))/w Q12 v2
RS €200 k91154 =
3k6 co |  KT3is7 100p =
op1 Q10
R19 R23 52
m?
1k2 1k2
20mA
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